
id Q1 Q1_ok Q3 Q4 Q4 Q5 Q6 Q7

20 140 135 1 matematikajiné 70 C 3

26 541 571 1 ZSV dějepis 50 B 3

17 117 138 1 ZSV matematika 65 C 2

24 60 90 1 ZSV zeměpis 63 B 2

7 92 90 1 zeměpis jiné 80 A 3

5 0 0 1 jiné 90 B 2

13 0 0 1 jiné 40 D 2

10 0 0 1 ZSV matematika 69 B 2

22 268 311 1 matematika 60 A 1

30 1691 1670 1 dějepis 50 C 4

12 0 0 0 ZSV dějepis 80 B 3

14 0 0 0 zeměpis jiné 40 C 3

16 250 282 0 ZSV dějepis 50 C 3

23 420 449 0 ZSV jiné 60 B 3

31 309 308 0 ZSV dějepis 70 C 3

39 30 34 0 ZSV jiné 20 D 3

2 50 50 0 ZSV zeměpis 60 B 2

4 185 177 0 ZSV jiné 50 A 2

32 0 0 0 fyzika biologie 70 B 2

9 30 34 0 ZSV zeměpis 20 C 3

19 506 475 0 ZSV dějepis 51 B 3

8 0 0 0 ZSV dějepis 45 B 2

35 110 120 0 ZSV chemie 50 B 2

21 135 180 0 ZSV jiné 55 A 1

25 56 67 0 ZSV dějepis 65 B 1

18 49 57 0 jiné 55 D 3

1 100 97 0 ZSV jiné 60 B 1

11 0 0 0 jiné 40 B 1

36 458 484 0 chemie biologie 69 E 1

40 140 132 0 ZSV dějepis 70 B 1

3 70 67 0 ZSV dějepis 50 C 3

6 158 182 0 ZSV dějepis 52 C 3

15 60 67 0 ZSV jiné 55 B 3

27 1611 1610 0 dějepis biologie 60 D 3

37 155 228 0 jiné 10 D 3

34 147 151 0 ZSV dějepis 40 A 2

28 25 28 0 ZSV dějepis 20 E 4

29 82 78 0 ZSV dějepis 70 C 4

33 120 120 0 ZSV dějepis 60 C 4

38 180 158 0 ZSV dějepis 20 C 4



Q8 Q9 Q10

3 20 žena

3 23 nechci odpovědět

3 20 muž

3 20 muž

2 21 muž

2 20 muž

2 20 muž

1 25 nechci odpovědět

1 24 muž

4 19-21 muž

3 21 žena

3 22 muž

3 17 muž

3 21 muž

3 21 muž

3 19 žena

3 20 muž

3 20

3 22 žena

2 22 muž

2 21 žena

2 20 žena

2 21 žena

2 20 muž

2 20 muž

1 15° Celsia muž

1 21.5 žena

1 24 žena

1 21.35 muž

1 23 muž

4 22 žena

4 21 muž

4 23 žena

4 21 žena

4 22 muž

4 22 žena

4 15 žena

4 18 žena

4 20 žena

4 22 muž


